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A. Choose the best answer. (4 points)
1. I saw an accident ............... I was walking home.

a. when b. since c. because d. whether
2. Some people send their children to work, ............... others provide them with good education.

a. when b. as c. whereas d. since
3. Pinvdeslingsiels; T ossnnanms have eaten so much food.

a. could b. must c. shouldn't d. wouldn't
4. I went to the police station ............... report that my car had been stolen.

a. so as b. in order to C. so that d. in order that
5.She ............... her mother, but she watched TV instead.

a. could help b. may have helped

c. should help d. should have helped
6. He doesn’t earn very much, ............... he works very long hours.

a. even though b. whether ¢. because d. therefore
7. 1slowed down ............... the ambulance could go faster.

a. so as to b. so that C. in order to d. in order for
S.Itwas............... terrible weather that we spent the whole day indoors.

a. so b. such c. too enough

B. Combine the following sentences using the words given in parentheses. (2 points)
9. He is saving money. He wants to buy a house. (so that)

10. The film was boring. All the people left the cinema one by one. (so / such)
The T WEE o wmsscrs v imm i S5 5 s amten sexsmmes s s o :

II. VOCABULARY
A. Fill in the blanks with the appropriate words from the list. (2 points)

[ destructive - community - floods - transportation - avai!ab!ej

11. I searched through the bookstores, but the book wasn’t .................. ;

12. Even after Mother Teresa’s death, her .................. is still helping the poor.

13. You can help control global warming by using public .............................. ;

14. The heavy rain has caused ...............ceeueen..... in many parts of the country.

B. Match the expressions and phrases in column (4) with the definitions in column (B). (I point)
(A) (B)

15. ina strong way () a. emergency

16. very poor part ofa city () b. recycle

17. created by people; not natural () c. slum

18. change old materials to use them again () d. firmly

e. artificial

l(‘”



(st

ady DO loual e b did) g 4lS 1 g, O 33 0)\e2 (6 WYy puadSA GL 5 g0 0 el OW g
............ e M el AYAD /Y YA ‘.(J‘.?G.n\'tg')“ 90 pad dugl M‘w’?*’}“‘u&)?“&‘:’“
S

7

C. Choose the best word that completes the sentence. (2 points)

19. She was seriously ............... in that accident and was taken to the hospital.
a. injured b. protected c. recycled d. covered
20. The most important ............... for child labor practices is thought to be poverty.
a. process b. season C. nation d. reason
o4 B I T JR—— of computer has completely changed the business world.
a. invitation b. prevention C. invention d. prediction
22. If you wantto ............... and send a letter on the Net, you should have an e-mail address.
a. guarantee b. compose c. distract d. estimate

IIl. COMPREHENSION
A. Sentence Comprehension: Read the following sentences and choose the best answer. (2 points)

23. The only things early people could see were the phases of the moon and some of the
moon’s larger features. We understand from this sentence that early people ............. .
a. knew that the moon had one side
b. used space probes to explore the moon
c. enjoyed seeing the phases of the moon
d. knew very little about the moon

24. The web is actually one special area of the Internet. Other areas include newsgroup,
mailing lists, and chat. We understand from these sentences that ... ;
a. the web is more useful than the Internet
b. the Internet is more specific than the web
c. the web is the same as the Internet
d. the Internet is much wider than the web

B. Cloze Passage: Fill in the blanks with the words from the list below. There is one extra word in
the list. (3 points)

[ annoyed - complex - performance - reason - exactly - experimenting - forced )

Edison was born on February 11, 1847, in Milan, Ohio, and grew up in Michigan. At an early age he

showed signs of a serious hearing problem. This may have been the .................. for Edison’s poor
............ at school. Edison did not do well there and was often ............ by other children. Three
months after starting school, Edison ran away. His mother was ............ to teach him at home.

Edison enjoyed reading chemistry books; besides, he was a very interested observer of anything that
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C. Reading Comprehension: Read the following passages and answer the questions. (4 points)

Passage One: (2 points)

Bill Gates is very important person in the computer industry. He has been the head of Microsoft
Company for many years. He is also the richest person in America. How did he do it? He learned a lot
from his parents. While Bill was going to school, his father went to college, got a degree, and became a
successful judge. From this, he learned that you have to work hard if you want something. His mother
was a very busy teacher, but she also enjoyed traveling. From this, he learned that if you want to work
hard and enjoy yourself at the same time, you have to make program. When Bill was young he spent a
lot of time on reading. But his childhood wasn’t all work. He played a lot of sports. When he got older,
he spent more and more time working and playing on a computer. Before he was 20, Bill developed the
world’s first computer language for a computer program. He thought that every home was going to
have a computer and every computer would require different software (the program you put into a
computer). He said, “I am going to make my first million dollars on software by the time I’'m 25.” And
he did it.

1. Bill Gates spent no time reading in his youth. (0/25)

a. True O b. False O c. Not mentioned ()

2. Bill Gates could never be rich in the world. (0/25)

a. True O b. False o c. Not mentioned O

3. Bill’s father enjoyed traveling a lot. (0/25)

a. True O b. False O c. Not mentioned o

4. Bill Gates wrote the world’s first computer language for a computer program. (0/25)

a. True o b. False o c¢. Not mentioned O

5. The word “it” inline 2 refers to ..................... . (0/5)
a. computer industry b. Bill’s Microsoft Company
c. learning from parents d. becoming important and rich

6. What did he learn from his mother’s experiences? (0/5)

........................................................................................................................
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Passage Two. (2 points)

The average women in England earns less than the average man. She is usually employed in a
lower-paid job and she doesn’t have the same salary. She isn’t promoted as often as the average man,
and she isn’t offered the same training.

In addition, most women are not educated for a job. At university, there is a high percentage of women

studying subjects like languages and literature (68%). But in engineering, technology, and medicine the
number is only 7%. Women are not interested in mathematics, either.

Education is the only career subject with a high percentage of women. Teaching is a job which a lot of

women choose. But teachers are not paid very highly and men are usually offered the best posts.

1. In England, women usually earn .................. . (0/5)
a. much more than men b. less than men
c. large amounts of money d. nothing at all

2. In which field of study women are studying more at university? (0/5)
a. Mathematics and Medicine
b. Mathematics and Engineering
c. Languages and Literature

d. Technology and Engineering

3. According to the passage, in England ..................... . (0/5)
a. women work harder than men
b. women and men are not treated the same
c. women are richer than the men

d. women are usually poor society members

4. The passage tells us that ..................... . (0/5)
a. good posts are offered to men
b. teachers are paid very much
¢. good posts are offered to women

d. women and men have the same salary
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“GOOD LUCK”




